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1 TON M               1000 KG   SEN∝=
𝐶.𝑂

𝐻
 

2 TON M               X    C.O= H SEN∝ 

2,000 KG     TY1=T1 SEN∝ 

F= M. G      TY1 + TY2 -19,620N = 0  

F= (2,00 KG) (9.81 M/S)    TY1+TY2= 19,620 N    

F= 19, 620 N     T1 SEN 35°+ T2 SEN 53° =19,620 N 

COS∝ =
𝐶.𝐴

𝐻
     T1 0.573 + T2 0.121 = 19,620 N  

C.A= H COS ∝     (T2 0.733) O.573+ T2 O.121= 19,620 N 

TX1= T1 COS∝     T2 O.420+ T2 O.121 = 19,620 N   

∈FY=0      T2 O.541= 19,620 N 

TX1= TX2 =0      T2  
19,620 𝑁

𝑂.541
 

TX1= TX2     T2 = 36,266.17 N 

T1 COS 35° =T2 COS 53° 

T1 0.819=T2 O.601 

T1= T2  
0.601

𝑂.819
 

T1=T2 0.733 

T1= (36,266.17 N) (O.733) 

T1= 26,583.10 

 

 

 


